中華大學資訊學院   計算機概論  轉學考試

I. Multiple Choice (60 points; 3 points/question)

1. What is the purpose of a compiler?

A. To translate machine language into assembly language

B. To translate high-level language into machine language

C. To translate FORTRAN into COBOL

D. To translate machine language into FORTRAN

E. To translate application programs into system programs

2. Which of the following is an application package?

A. FORTRAN

B. Assembly language

C. C++

D. Object-oriented program

E. Word processor

3. What is the lowest base in which the number 987 could be a valid number?

A. Binary

B. Base 3

C. Octal

D. Decimal

E. Hexadecimal
4. What is the decimal equivalent of the hexadecimal number 1C9F?

A. 8879

B. 4512

C. 6789

D. 7327

E. 9876

5. Which gate does the following truth table represent?
	A
	B
	X

	0
	0
	0

	0
	1
	1

	1
	0
	1

	1
	1
	0


A. AND

B. NAND

C. XOR

D. OR

E. NOR

6. The Von Neumann computer architecture is best characterized by which of the following?

A. Program input device.
B. Read only memory.
C. Random access memory.
D. Stored-program concept.
E. The use of disk drives.
7. Which of the following best describes a register?

A. A memory location which stores a sum.
B. A device that contains the arithmetic/logic unit.
C. A device that contains the control unit. 

D. A large memory location in auxiliary storage.
E. A small memory location in the central processing unit.
8. Which of the following is the time it takes for the read/write head of a disk drive to get into position over a specified track?

A. Seek time

B. Latency

C. Transfer rate

D. Spindle time

E. Access time

9. Which parallel-processing approach applies the same program to multiple data sets using multiple processors?

A. Synchronous processing

B. Tandem processing

C. Pipelining processing

D. Transfer processing

E. Decode processing

10. Which of the following is volatile?

A. Control unit

B. Arithmetic/logic unit

C. Auxiliary storage device

D. RAM

E. ROM

11. Which one is the binary representation of decimal value 25.5 ?
A. 10011.10
B. 10011.01
C. 11001.01
D. 11001.10

E. 11001.11

12. In a machine language, the instruction operation code takes 5 bits. What is the maximum number of distinct operation codes that can be recognized and executed by the processor on this machine?
A. 4

B. 5

C. 8

D. 16

E. 32
13. Which one is the functional unit that can fetch, decode, and execute instructions?
A. Control unit
B. Memory
C. Cache

D. I/O controllers
E. Arithmetic logic unit
14. Which one is the program that controls the overall operation of the computer?
A. Applications

B. Compiler

C. I/O

D. Control unit

E. Operating system
15. Which one is the protocol that can communicate the client and server on WWW?
A. FTP

B. HTTP

C. BBS

D. MSN

E. Telnet

16. Which one is the network topology that all nodes are connected to a single shared communication line?
A. Mesh

B. Star
C. Bus
D. Tree

E. Ring
17. Which one is the register that holds the address of the next instruction to be executed?
A. Instruction register
B. Program counter
C. Memory address register
D. Memory data register

E. Flag register
18. Which data type cannot be used in the expression for a switch statement in C language?

A. int

B. float
C. char
D. short
E. long
19. Which is an example of a unary operator in C language? 
A. &&

B. <=
C. =

D. --

E. >=

20. Which is a repetition structure in C language? 
A. for
B. if
C. else

D. switch
E. i++

II. Questions and Answers (40 points)

1. Please draw the truth table for the circuit. (10%)
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2. Please draw the diagram of the Von Neumann computer architecture. (10%)

3. The cache hit rate is the rate of the information we need in the cache. Suppose that the average access time for main memory is 50 ns and the average access time for cache memory is 10 ns. What would the cache hit rate have to be to reduce the average access time to 15 ns? (10%)
4. Please draw the three common wired LAN topologies: bus, ring, and star. (10%)
